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6.

a. Explain the terms: Gt

(i) enantiomers, (ii) Diastereomers and (iii) Meso- compounds

b. Convert the following structures in to Wedge projection and
assign R/S configuration for each of the chiral centre in the

molecule

CHgs
He=t==0kH
HOES==E]
CHj
a. Draw E and Z configurations for the molecule CH3-CH=C(CI)(Br). 2+4+4
=10
b. Convert the following structures:
CHy H
H—|—cCl HiC 2 &
(a) Sreet bt to Newman's projection (b) I to Fisher projection
CH,0H HOH CzHs

c. Cyclohexane exists in chair and boat conformations. State which
conformation is more stable and why? Also draw Newman’s
projection for chair and boat conformation, indicating axial and
equatorial bonds in chair conformation and flagpole bonds in boat
conformation.

a

Why nitro (-NOz) group is meta directing and methoxy (-OCHs) 3+3+4
group is ortho-para directing in electrophilic aromatic substitution
reaction? Explain.

b. Show the steps with reagents for the following syntheses?

c. Write the structure of the major product and show the reaction
mechanism.

Anhy. AICI;

(0]
> Major product
Cl Excess DCM
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